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QUESTION 1
A SUT has an existing automated test suite.
Which of the following statements relating to the introduction of new features in the SUT is TRUE?

A. Automated tests are not affected by the introduction of a new feature and running them against the new SUT is a
waste of effort

B. The introduction of a new feature could require updates or additions to the testware components
C. The test automation engineer should work with the business analysts to ensure the new feature is testable
D. It is generally more difficult to automate test cases for a new feature as the development has not yet started

Correct Answer: B

QUESTION 2

As a TAE you are evaluating a functional test automation tool that will be for several projects within your organization.
The projects require that tool to work effectively and efficiently with SUT\\'s in distributed environments. The test
automated tool also needs to interface with other existing test tools (test management tool and defect tracking tool.) The
existing test tools subject to planned updates and their interface to the test automated tool may not work property after
these updates.

Which of the following are the two LEAST important concerns related to the evaluation of the test automation in this
scenario?

A. Is the test automation tool able to launch processors and execute test cases on multiple machines in different
environments?

B. Does the test automation tool support a licensing scheme that allows accessing different sets?

C. Does the test automation tool have a large feature set, but only part of the features will be sets?

D. Do the release notes for the planned updates on existing specify the impacts on their interfaces to other tools?
E. Does the test automation tool need to install specific libraries that could impact the SUT?

A.Aand C

B.Aand E

C.BandE

D.Cand D

Correct Answer: C
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QUESTION 3

Consider the following layers of the gTAA structure:
a.

Test generation layer

b.

Test definition layer

C.

Test execution layer

d.

Test execution layer

Consider the following capabilities associated with these layers.

Acquire all the necessary resources before each test and release all after run, in order to avoid interdependences
between test

Allow the automated test scripts on an abstract level to interact with components, configurations and interfaces of the
SUT.

Design test directives that allow configuring the algorithms used to automatically produce the test cases a given model
of the SUT.

Allow the definition and implementation of test cases and data by means of templates and/or guidelines.
Which of the following BEST matches each layer with the appropriate capability?

A. a-3, b-4, c-1, d-2

B. a-4, b-3, c-1, d-2

C.a4,b-3,c-2,d-1

D. a-3, b-4, c-2, d-1

Correct Answer: C

QUESTION 4

You are evaluating several test modelling tools and are wanting to automatically generate test cases within the tool
where many different combinations of input data are created.

You are then wanting to export the test cases into a csv file which can then be read by a functional test execution tool
using a data-driven or keyword-driven scripting method.
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You have investigated several tools and there is only one tool that provides all the necessary features defined by your
team with the exception of the export facility. It does not provide an export into either .xlIs or .csv formats.

What would be the BEST next step regarding the selection of this tool?

A. Consider another tool that is more "fit for purpose" and has all the features required.

B. Explore the possibility of creating your own export facility.

C. Ask the vendor and use forums to see if a solution is available or going to be available in the future.
D. Purchase this tool and generate the .csv file manually.

Correct Answer: C

QUESTION 5

Consider a TAS that is going to be deployed for the first time. The TAS requires share resources and run it its own test
environment. The infrastructure for the TAS has been created along with maintenance procedures. It is very unlikely the
TAS will be required to work in other target environments. There is a high-risk that when the TAS is deployed in its own
test environment, a number of existing application will no longer work because of conflicts with the existing shared
resources.

Which of the following activities would you expect to be MOST effective at mitigating the risk associated with the first
deployment of the TAS?

A. Testing the TAS for application compatibility issues in the target environment

B. Testing the TAS for its ability to be implemented in other target test environments.
C. Testing the TAS for regressions due to optimization that fix non-functional issues.
D. Testing the TAS for ITS ability to run a shared test environment

Correct Answer: B

QUESTION 6
What represents good practice when automating a manual regression test suite?

A. Test data shared between tests should, where feasible, be stored and accessed from a single source to avoid
duplication or introduction of error.

B. All existing manual tests should be decomposed into several smaller automated tests to reduce functional overlap.
C. Remove inter-dependencies between tests to reduce automation failures and costly error analysis.
D. Once a manual test has been automated, execute it immediately to Identify whether it operates correctly.

Correct Answer: D
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Reference: https://www.softwaretestinghelp.com/manual-to-automation-testing-process- challenges/

QUESTION 7

A major component of your organisation\\'s Test Automaton Solution (TAS) is a popular open-source third-party capture-
replay tool for automated functional testing.

Which two of the following must the Test Automation Engineer (TAE) ensure happens for this TAS?
a) The third party tool is placed under configuration management control.
b) The annual support and maintenance costs are agreed with the tool\\'s vendor.

c) It is Important to obtain information about updates and new versions of the tool so that the third party tool is kept up to
date.

d) Ensure that the TAS test scripts are integrated into the tool\\'s framework.

e) Ensure that no changes are made to the tool, because modifications are not allowed for third party products.
A.aandb

B.candd

C.aandc

D.dand e

Correct Answer: A

QUESTION 8

A web application was released into production one year ago, it has regular release which follow a V-model lifecycle and
testing is well-established and fully integration into the development lifecycle. You have been asked to implement a TAS
for the regression test suite. The regression tests have been developed via the GUI and are expected to be run at least
four times a month, for each planned release, for the whole operation solution life of thesystem (six years). Each screen
of the GUI uses several third-party controls which are not compatible with the existing automation solutions. The
environment for the automation will be stable, fully controllable and separated from other environments (development,
staging, production).

What could be the MOST problematic for this TAS?

A. Maturity of the test process

B. Complexity to automate

C. Frequency of use

D. Sustainability of the automated environment
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Correct Answer: D

QUESTION 9

You are a TAE working for a software house which provides quarterly releases of its software to its customers. There
are many different versions of the SUT that need to be tested simultaneously by different tests teams.

Your TAS is complex and you need to ensure it remains consistent across the different SUT environments. What is the
BEST and MOST efficient way to ensure each of the test teams use the same version of the TAS to test the different
versions of the SUT?

A. Due to the complexities involved and the high risks associated with these releases, it would be best to revert to
manual testing.

B. Produce comprehensive documentation of the TAS, installation and usage guidelines and provide training for each
team member.

C. Install the TAS is a central repository and have an automated installation and configuration of the TAS from this
repository to each of the SUT environments.

D. Develop a tool to track historical test results across the different SUT environments and look for trends.

Correct Answer: C

QUESTION 10

Which of the following attributes should NOT be included in a test execution report associated with a suite of automated
tests?

A. Summary of the test execution results
B. System/Application under test and its version
C. Defect clusters identified during test execution D. Environment in which the tests have been executed

Correct Answer: C

QUESTION 11

Which of the following statements BEST describe aspects of the SUT to consider when designing a TAA?
A. All the interaction between SUT and TAS should be logged with the highest level of detail

B. All the internal test interfaces of the SUT should be removed prior to the product release

C. All the interface of the SUT affected by the tests should be controllable by the TAA

D. All the external test interfaces of the SUT should be removed prior to the product release

Correct Answer: A
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QUESTION 12

Consider a TAS deployed into production. The SUT is a web application and the test suite consists of a set of
automated regression tests developed via GUI. A keyword-driven framework has been adopted for automating the
regression tests. The tests are based on identification at low-levels of the web page components (e.g class indexes, tab
sequence indexes and coordinates) in the next planned release the SUT will be subject to significant corrective
maintenance (bug-fixes) and evolution (new features) Maintenance costs to update the test scripts should be as low as
possible and the scripts must be highly reusable.

Which of the following statements is most likely to be TRUE?

A. The keyword-driven framework is not suitable, it would be better to adopt a structured- scripting approach

B. False positive errors are likely to occur when running the automated tests on the new releases without modifying the
test

C. The total execution time of the automated regression test suite will decrease for each planned release.

D. The keyword-driven framework introduces a level abstraction that is too high and makes it difficult what really
happens

Correct Answer: A

QUESTION 13

A project consists of distributed teams working in a 24-hour environment, where activities happen at all hours of the day.
This project adopts a Cl (Continuous Integration) process when developer check-in code and consists of automated
activities that include generating a build and deploying it to a test environment. Automated integration tests are run
multiple times a day. The project have asked for a report containing the automation test results for every build, which
must be available 24/7 to the project team.

Which of the following would be the BEST way to automatically provides this report?
A. Store the execution results of the integration tests for the last build to a database (without overwriting the results from
the previous builds), use this database to automatically update a dashboard containing the build history and test results

accessible to the project team.

B. Store the execution result of the integration tests for the last build to a database (overwriting the results from the
previous build), automatically create a test execution report for this build send It via e-mail to the project team

C. Store the execution results of the integration tests for the last build to a database (without overwriting the results from
the previous builds). Automatically create a test execution report for this build and send it via e-mail to the project team

D. Store the code coverage results of the integration tests for the last build to a database (without overwriting the results
from the previous builds). And automatically create a chart showing the trend in code coverage and send via email to
the project team.

Correct Answer: A

QUESTION 14
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As the TAE, you are working with the organisation\\'s Test Manager to decide which external metrics and which internal
metrics should be gathered for the new TAS. Which of the following represents the BEST internal metric that would help
measure the quality of the TAS and the number of problems associated with the TAS?

A. The average maintenance cost to keep an automated test in sync with the SUT

B. The number of hours of manual test effort saved by implementing a TAS

C. A measure of defect density within the TAS automation code

D. A measure of how many automated tests pass and fail

Correct Answer: C

QUESTION 15

You are implementing test automation for a project and you want to be able to generate test cases automatically using a
series of test design tools which use a variety of test design techniques such as decision tables, pairwise testing and

boundary value analysis.
You also want to generate test data automatically which can then be used by the tests.

Initially these tests will be run manually to verify their correctness and ultimately you want to include them in the test
execution tool so that they can run unattended.

Which layer of the gTAA will be used to support the specification of the test cases and preparation of the test data?
A. The generation layer

B. The definition layer

C. The execution layer

D. The adaptation layer

Correct Answer: B

Reference: https://www.slideshare.net/jannatindia/chapter-3-the-generic-test-automation- architecture
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